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Q1 The vertical asymptote(s) of the function 𝑓(𝑥) =
𝑥2

3𝑥−2𝑥2   is (are) 

(a) 𝑥 =
3

2
 *            (b) 𝑥 = 0          (c) 𝑥 = 0, 𝑥 =

3

2
             (d) 𝑥 = −

2

3
  

Q2 The horizontal asymptote of the following graph of the function is  

 

(a) 𝑥 = −1               (b) 𝑦 = 1                (c) 𝑥 = 1 *             (d) 𝑦 = −1 
 

Q3 The function 𝑓(𝑥) = √6 − 𝑥 is continuous on 

(a) ℝ − {6}                (b) ℝ                  (c) (6, ∞)              (d) (−∞, 6]  *  
 

 

Q4 The function 𝑓(𝑥) =
𝑥2+2𝑥−8

𝑥−2
  is continuous on ℝ − {2} 

(a) True   *                               (b) False    
 

Q5 lim
𝑥→1

1

(𝑥 − 1)2
= 

(a) 2                         (b) ∞  *                        (c) −∞                      (d) 0  
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Q6 The function  𝑓(𝑥) = {
𝑥3 − 𝑐𝑥     𝑖𝑓        𝑥 ≥ 2

𝑐𝑥2 + 2𝑥    𝑖𝑓        𝑥 < 2 

    continuous on 

(−∞, ∞) then the value of the constant  𝑐 is  

(a) 
3

2
                          (b) −

3

2
                        (c) 

2

3
 *                      (d) −

2

3
  

Q7 Suppose 𝑓  and  𝑔 are continuous functions such that 𝑔(3) = 4,     

lim
𝑥→3

[𝑓(𝑥)𝑔(𝑥) + 2𝑓(𝑥)] = 12 ,   then   𝑓(3) = 

(a) −3                        (b) 2  *                      (c) 4                        (d) 0  

 

Q8 Let lim
𝑥→1

 𝑓(𝑥)  exists,  where 𝑓(𝑥) = {
𝑘 − 𝑥2     𝑖𝑓        𝑥 ≤ 1

2𝑥 + 2𝑘    𝑖𝑓       𝑥 > 1 

   ,  then 

the value of 𝑘  is   

(a) 3                          (b) 1                          (c) −3 *                     (d) −1 

Q9 If 𝑔(𝑥) is continuous from the right at  4  such that 

 lim
𝑥→4+

𝑔(𝑥) = −1 ,  then   𝑔(4)  

(a) 4                          (b) ∞                         (c) 1                          (d) −1 *   

 

Q10 If the function 𝑓(𝑥) = {

5 − 6𝑥       𝑖𝑓      𝑥 ≤ −1

𝑥2 + 2𝑥      𝑖𝑓     𝑥 > −1 
.    Then 𝑓(𝑥) is 

(a) continuous from the right at 𝑥 = −1    

(b) continuous at 𝑥 = −1 

(c) continuous from the left at 𝑥 = −1   *    

(d) discontinuous from the left at 𝑥 = −1    
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Q11 If  lim
𝑥→5

𝑓(𝑥) = 0 and lim
𝑥→5

𝑔(𝑥) = 0,  then lim
𝑥→5

[
𝑓(𝑥)

𝑔(𝑥)
]  does not exist 

(a) True                                 (b) False   * 

 

 

Q12 If  lim
𝑥→−2

8−𝑓(𝑥)

𝑥+2
= 20  ,   then   lim

𝑥→−2
 𝑓(𝑥) =     

(a) 4                         (b) 20                           (c) −2                     (d) 8 * 

 

 

Q13 If   𝑓(𝑥) = {
2𝑥2 + 3,       𝑖𝑓      𝑥 ≥ −1

−𝑥 + 5,       𝑖𝑓      𝑥 < −1 

.     Then     lim
𝑥→−1−

𝑓(𝑥) = 

(a) doesn’t exists                  (b) 5                 (c) 6  *                 (d) −1  

Q14  If   5𝑥 ≤ 𝑓(𝑥) ≤ 3𝑥4 + 2𝑥2   for all 𝑥,   then  lim
𝑥→1

𝑓(𝑥) = 

(a) 5 *                   (b) −3                     (c) doesn’t exists                 (d) 0  
 

Q15  As shown in the graph below ,   lim
𝑥→0−

 𝑓(𝑥) = 

 

(a) 1   *                      (b) −2                        (c)  0                    (d) ∞ 
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Q16 Any trigonometric functions are continuous at every number in their 

ranges 

(a) True                                        (b) False * 
 

Q17 lim
𝑥→−∞

e𝑥 = −∞ 

(a) True                                 (b) False  * 

 

 

 

 

Q18  lim
𝑥→9

3−√𝑥

9𝑥−𝑥2 = 

(a) −
1

3
                      (b) 9                       (c) −

1

54
                   (d) 

1

54
 * 

 

 

Q19 lim
𝑥→∞

1 − 4𝑥2 − 𝑥3

2𝑥3 + 𝑥 + 5
= 

(a) −
4

5
                      (b) 1                     (c) −

1

2
 *                     (d) ∞  

 

 

 

Q20 lim
𝑥→∞

1

𝑥8
= 0 

(a) True  *                                     (b) False     

 

Q21 lim
𝑥→∞

𝑥3 − 𝑥

𝑥2 − 6𝑥 + 5
= 

(a) ∞   *                   (b) −∞                       (c) −1                      (d) −6 
 

 

Q22 lim
𝑥→−∞

√1 + 4𝑥6

2 − 𝑥3
= 

(a) −2                      (b) −√2                       (c) 2 *                      (d) √2 
 

 

Q23  lim
𝑥→∞

(√𝑥2 + 10 − 𝑥) = −∞ 

(a) True                                      (b) False   * 
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Q24 lim
𝑥→−∞

5𝑥2 − 𝑥 + 1

𝑥3 − 3𝑥2 − 𝑥
= 

(a) −
5

3
                          (b) −∞                        (c) ∞                 (d) 0 * 

 

Q25  lim
𝑥→8

|𝑥−8|

𝑥−8
     does not exists        

(a) True  *                               (b) False   
 

 

 

 

 

 

 

Q26 lim
𝑥→−4

16 − 𝑥2

𝑥 − 4
= 

(a) 8                         (b) −4                        (c) 0 *                       (d) −∞ 

Q27 The function 𝑓(𝑥) = cos−1(𝑥 + 3) is continuous on [−4, −2]    

(a) True   *                              (b) False     

 

Q28  lim
𝑥→−1

(
5𝑥2+4

2𝑥5−𝑥4)
2

= 

(a) −3                          (b) 9 *                     (c) 
1

9
                        (d) −9  

 

 

 

 

 

 

 

Q29 lim
𝑥→0

𝑥3 − 𝑥

6𝑥
= 

(a) ∞                           (b) 0                        (c) 6                       (d) −
1

6
   * 

 

Q30 lim
𝑥→2+

 ln(𝑥 − 2) = 

(a) ∞                           (b) 2                        (c) −∞ *                 (d) 0   
  

                                                                                    With our best wishes 


